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1. KEOMEOWNBICHELZESIAD. (S0, A1 15%, Bi#k1540%, C# 35 30% )

(1) HB ABCD (2) BP:PD=5:2

(3) PA:PC=1:1, PB:PD=7:9 (4) PA:PC=5:6, PB:PD=3:4
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2. KBOMHEONIBICHELZESAD. (SH50F, A1 15, Bf14740%, C# 347305 )

(1) A% ABCD (2) AP =15cm, PC=24cm
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(3) PA:PC=11:9, PB=PD (4) PA:PC=4:5, BP=6cm, PD=8cm
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1. KEOMEOWNBICHELZESIAD. (S0, A1 15%, Bi#k1540%, C# 35 30% )

(1) HB ABCD (2) BP:PD=5:2

iz ABCP . PUfgf CDAP
= BP : PD
= 5 : 2

(3) PA:PC=1:1, PB:PD=7:9 (4) PA:PC=5:6, PB:PD=3:4

AABP : ABCP : ACDP : ADAP AABP : ABCP : ACDP : ADAP
=(@OxA): (OxA): (Ox A): (@ x D) =@ xA): (@OxB): (®xA):(®xA)
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2. KBOMHEONIBICHELZESAD. (SH50F, A1 15, Bf14740%, C# 347305 )

(1) &I ABCD (2) AP=15cm, PC=24cm

Mz ABPD - PAf4iEZ BCDP

= AP : PC
= 15 : 24
= 5 : 8
(3 PA:PC=11:9, PB=PD (4) PA:PC=4:5, BP=6cm, PD=8cm
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AABP : ABCP : ACDP : ADAP AABP : ABCP : ACDP : ADAP
=@ xA): (@xADN): (@x AD): (@ xAD) =(@xB): (OxB): (OxA): (@ xA)
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